

Said R. Grace; Bikkar S. Lalli

Oscillation theorems for certain nonlinear differential equations with deviating arguments

*Czechoslovak Mathematical Journal*, Vol. 36 (1986), No. 2, 268–274

Persistent URL: <http://dml.cz/dmlcz/102090>

## Terms of use:

© Institute of Mathematics AS CR, 1986

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

OSCILLATION THEOREMS FOR CERTAIN NONLINEAR DIFFERENTIAL EQUATIONS WITH DEVIATING ARGUMENTS

S. R. GRACE, Cairo and B. S. LALLI, Saskatoon

(Received October 12, 1984)

Consider the differential equation

$$(1) \quad x^{(n)}(t) = p(t) k(t, x(t), x^{(n-1)}(t)) x^{(n-1)}(t) + q(t) |x[\sigma(t)]|^\alpha \operatorname{sgn} x[\sigma(t)] = 0$$

where  $n$  is even,  $\alpha \in (0, 1]$ ,  $p, q, \sigma: [t_0, \infty) \rightarrow [0, \infty)$  and  $k: [t_0, \infty) \times R^2 \rightarrow [0, \infty)$  are continuous,  $q(t)$  not identically zero on any ray of the form  $[t^*, \infty)$  for some  $t^* \geq t_0$  and  $0 < \sigma(t) \leq t$  and  $\sigma(t) \rightarrow \infty$  as  $t \rightarrow \infty$ .

We assume that:

$$(2) \quad k(t, x, y) \leq |y|^\beta, \quad -\infty < x, y < \infty \quad \text{and} \quad \beta \geq 0;$$

$$(3) \quad \left(1 + \int_{t_0}^t p(s) ds\right)^{-1/\beta} \notin \mathcal{L}(t_0, \infty) \quad \text{for} \quad \beta > 0;$$

and

$$\int_{t_0}^\infty \exp\left(\int_{t_0}^s -p(\tau) d\tau\right) ds = \infty \quad \text{for} \quad \beta = 0.$$

We restrict our attention to proper solutions of (1), i.e., those solutions  $x(t)$  which exist on some ray  $[T_x, \infty) \subset [t_0, \infty)$  and satisfy  $\sup\{|x(t)|: t \geq T\} > 0$  for any  $T \geq T_x$ . A proper solution is called *oscillatory* if it has arbitrary large zeros; otherwise it is called *nonoscillatory*. Equation (1) is said to be *oscillatory* if all of its proper solutions are oscillatory. In case  $n = 2$ ,  $p(t) = 0$ ,  $\sigma(t) = t$ , Kura [6] has shown that equation (1) is oscillatory if

$$(4) \quad \limsup_{t \rightarrow \infty} \frac{1}{t} \int_{t_0}^t \int_{t_0}^s \tau^\gamma q(\tau) d\tau ds = \infty \quad \text{for some} \quad \gamma \in [0, \alpha], \quad 0 < \alpha < 1.$$

Ohriska [8] considered (1) with  $n = 2$ ,  $p(t) = 0$  and  $\alpha = 1$  and proved that either the condition

$$(5) \quad \limsup_{t \rightarrow \infty} t \int_t^\infty q(s) \frac{\sigma(s)}{s} ds > 1$$

or

$$(6) \quad \limsup_{t \rightarrow \infty} t \int_{\gamma(t)}^{\infty} q(s) ds > 1.$$

is sufficient for equation (1) to be oscillatory, where

$$\gamma(t) = \sup \{s \geq t_0 : \sigma(s) \leq t\} \quad \text{for } t \geq t_0.$$

The purpose of this paper is to extend and improve Kura's result to equation (1) and generalize the work of Ohriska to the more general equation (1).

We need the following three lemmas, the first is given in [3] and the second and third appeared in [7] and [4] respectively.

**Lemma 1.** Let  $x(t) \in C^2[T, \infty]$  and let

$$x(t) > 0, \quad x'(t) > 0, \quad x''(t) \leq 0 \quad \text{for } t \geq T, \quad \left(\cdot = \frac{d}{dt}\right).$$

Then for each  $c \in (0, 1)$ , there is a  $T_c \geq T$  such that

$$x[\sigma(t)] \geq c \frac{\sigma(t)}{t} x(t), \quad t \geq T_c,$$

where  $\sigma(t)$  is as given above.

**Lemma 2.** Let  $u$  be a positive and  $n$ -times differentiable function on  $[t_0, \infty)$ . If  $u^{(n)}(t) \leq 0$  for  $t \geq t_0$  and  $n$  even, and  $u^{(n)}(t)$  not identically zero on any ray of the form  $[t^*, \infty)$ ,  $t^* \geq t_0$ , there exist a  $t_u \geq t_0$  and an integer  $l$ ,  $0 \leq l \leq n$  with  $n + l$  odd and such that

$$l > 0 \quad \text{implies} \quad u^{(k)}(t) > 0 \quad \text{for } t \geq t_u \quad (k = 0, 1, \dots, l - 1)$$

and

$$l \leq n - 1 \quad \text{implies} \quad (-1)^{l+k} u^{(k)}(t) > 0 \quad \text{for } t \geq t_u \\ (k = l, l + 1, \dots, n - 1).$$

Moreover, for each  $\theta \in (0, 1)$ , we have

$$u(t) \geq \frac{\theta}{(n-1)!} t^{n-1} u^{(n-1)}(t) \quad \text{for all large } t.$$

**Lemma 3.** Let condition (2) and (3) hold. Then if  $x(t)$  is a nonoscillatory solution of (1), we have

$$x(t) x^{(n-1)}(t) > 0 \quad \text{for all large } t.$$

Our main results are as follows:

**Theorem 1.** Let  $n = 2$ ,  $0 < \alpha < 1$  and conditions (2) and (3) hold. Suppose that there is a twice differentiable function  $\zeta: [t_0, \infty) \rightarrow (0, \infty)$  such that

$$(7) \quad \zeta''(t) + \left(\frac{1-\alpha}{\alpha}\right) \frac{\zeta'^2(t)}{\zeta(t)} \leq 0 \quad \text{for } t \geq t_0$$

and

$$(8) \quad \limsup_{t \rightarrow \infty} \frac{1}{t} \int_{t_0}^t \int_{t_0}^{\tau} \left( \frac{\sigma(s)}{s} \right)^\alpha \zeta(s) q(s) ds d\tau = \infty,$$

then equation (1) is oscillatory.

Proof. Let  $x(t)$  be a nonoscillatory solution of (1), say  $x(t) > 0$  for  $t \geq t_0 > 0$ . There is a  $t_1 \geq t_0$  so that  $x[\sigma(t)] > 0$  for  $t \geq t_1$ . By Lemma 3, there exists a  $t_2 \geq t_1$ , such that  $x'(t) > 0$  for  $t \geq t_2$ . Now the hypotheses of Lemma 1 are verified and hence for each  $c \in (0, 1)$ , there exists a  $t_3 \geq t_2$  so that

$$(9) \quad x[\sigma(t)] \geq c \frac{\sigma(t)}{t} x(t) \quad \text{for all } t \geq t_3.$$

Thus, equation (1) reduces to

$$(10) \quad x^{**}(t) + c \left( \frac{\sigma(t)}{t} \right)^\alpha q(t) x^\alpha(t) \leq 0 \quad \text{for all } t \geq t_3.$$

Define

$$w(t) = \frac{1}{1-\alpha} \zeta(t) x^{1-\alpha}(t).$$

Then  $w(t)$  satisfies:

$$\begin{aligned} w^{**}(t) &\leq -c^\alpha \zeta(t) \left( \frac{\sigma(t)}{t} \right)^\alpha q(t) + \frac{1}{1-\alpha} \zeta^{**}(t) x^{1-\alpha}(t) + 2\zeta'(t) x^{-\alpha}(t) x'(t) - \\ &\quad - \alpha \zeta(t) x^{-\alpha-1}(t) x^*(t) = \\ &= -c^\alpha \left( \frac{\sigma(t)}{t} \right)^\alpha \zeta(t) q(t) + \frac{1}{1-\alpha} \zeta^{**}(t) x^{1-\alpha}(t) + \frac{\zeta^{*2}(t)}{\alpha \zeta(t)} x^{1-\alpha}(t) - \\ &\quad - \left( (\alpha \zeta(t) x^{-\alpha-1}(t))^{1/2} x'(t) - \frac{2 \zeta'(t) x^{-\alpha}(t)}{2(\alpha \zeta(t) x^{-\alpha-1}(t))^{1/2}} \right)^2 \leq \\ &\leq -c^\alpha \left( \frac{\sigma(t)}{t} \right)^\alpha \zeta(t) q(t) + \frac{x^{1-\alpha}(t)}{1-\alpha} \left[ \zeta^{**}(t) + \frac{\zeta^{*2}(t)}{\zeta(t)} \frac{1-\alpha}{\alpha} \right]. \end{aligned}$$

By (7) we have

$$(11) \quad w^{**}(t) \leq -c^\alpha \left( \frac{\sigma(t)}{t} \right)^\alpha \zeta(t) q(t).$$

Integrating (11) twice over  $[t_3, t]$  we have

$$(12) \quad c^\alpha \int_{t_3}^t \int_{t_3}^s \left( \frac{\sigma(\tau)}{\tau} \right)^\alpha \zeta(\tau) q(\tau) d\tau ds \leq -w(t) + w(t_3) + (t - t_3) w'(t_3) \leq \\ \leq w(t_3) + (t - t_3) w'(t_3).$$

Dividing (12) by  $t$  and taking limit as  $t \rightarrow \infty$  we, get

$$w'(t_3) \geq \limsup_{t \rightarrow \infty} \frac{c^\alpha}{t} \int_{t_3}^t \int_{t_3}^s \left( \frac{\sigma(\tau)}{\tau} \right)^\alpha \zeta(\tau) q(\tau) d\tau ds.$$

This is a contradiction to (8), and the proof is complete.

**Corollary 1.** *Let  $n = 2$ ,  $0 < \alpha < 1$  and conditions (2) and (3) hold. If*

$$(13) \quad \limsup_{t \rightarrow \infty} \frac{1}{t} \int_{t_0}^t \int_{t_0}^s (\sigma(\tau)^\alpha q(\tau) ds = \infty,$$

*then equation (1) is oscillatory.*

*Proof.* The proof of the Corollary is the same as that of Theorem 1 for  $\zeta(t) = t^\alpha$ , and hence is omitted.

*Remark.* If  $n = 2$ ,  $p(t) \equiv 0$  and  $\sigma(t) = t$ , then  $q(t)$  need not to be of fixed sign and hence our Theorem 1 for  $\zeta(t) = t^\gamma$  for some  $\gamma \in (0, \alpha]$  and Theorem 1 in [6] are the same.

As illustrative examples we consider the equations

$$x^{**}(t) + \frac{1}{\sqrt{t}} x^{*3}(t) + t^{-4/3} x^{1/3} \left[ \frac{t}{2} \right] = 0, \quad t > 0,$$

and

$$x^{**}(t) + \frac{1}{t} x^*(t) + t^{-7/8} x^{1/3} [\sqrt{t}] = 0, \quad t > 0,$$

and note that these equations are oscillatory by Corollary 1. We also note that the results in [1], [3], [5], [6] and [9] are not applicable to the above equations.

The following theorem generalize Theorem 1 of Ohriska [8].

**Theorem 2.** *Let conditions (2) and (3) hold and suppose that either*

$$(14) \quad \limsup_{t \rightarrow \infty} \sigma^{n-1}(t) \int_t^\infty q(s) ds > (n-1)! \quad \text{and} \quad \sigma(t) \quad \text{non-decreasing},$$

*or*

$$(15) \quad \limsup_{t \rightarrow \infty} t^{n-1} \int_{\gamma(t)}^\infty q(s) ds > (n-1)!.$$

*Then equation (1) with  $\alpha = 1$  is oscillatory.*

*Proof.* Let  $x(t)$  be a nonoscillatory solution of (1). Assume  $x(t) > 0$  and  $x[\sigma(t)] > 0$  for  $t \geq t_1 \geq t_0 > 0$ . By Lemma 3, there exists a  $t_2 \geq t_1$  such that  $x^{(n-1)}(t) > 0$  for  $t \geq t_2$ . The hypotheses of Lemma 2 are satisfied and hence there exists a  $t_3 \geq t_2$  such that

$$x^*(t) > 0$$

and

$$(16) \quad x(t) \geq \frac{c}{(n-1)!} t^{n-1} x^{(n-1)}(t), \quad \text{for some } c \in (0, 1) \quad \text{and} \quad t \geq t_3.$$

There exists a  $t_4 \geq t_3$  such that

$$(17) \quad x[\sigma(t)] \geq \frac{c}{(n-1)!} \sigma^{n-1}(t) x^{(n-1)}(t), \quad \text{for some } c \in (0, 1) \quad \text{and} \quad t \geq t_4.$$

From (1), (16) and (17) we have

$$(18) \quad x(t) \geq \frac{c}{(n-1)!} t^{n-1} \int_t^\infty q(s) x[\sigma(s)] ds,$$

and

$$(19) \quad x[\sigma(t)] \geq \frac{c}{(n-1)!} \sigma^{n-1}(t) \int_t^\infty q(s) x[\sigma(s)] ds.$$

Now we shall consider two separate cases in view of conditions (14) and (15).

Case I. Assume that (14) holds. Since  $x(t)$  is positive and increasing, it follows from (19) that

$$(20) \quad 1 \geq \frac{c}{(n-1)!} \sigma^{n-1}(t) \int_t^\infty q(s) ds, \quad t \geq t_4.$$

From (20) it follows that

$$\limsup_{t \rightarrow \infty} \frac{\sigma^{n-1}(t)}{(n-1)!} \int_t^\infty q(s) ds < \infty.$$

If we put

$$\limsup_{t \rightarrow \infty} \frac{\sigma^{n-1}(t)}{(n-1)!} \int_t^\infty q(s) ds = A.$$

then, in view of (14), there exists a sequence of points  $\{\tau_k\}$  such that  $\tau_k \rightarrow \infty$  as  $k \rightarrow \infty$  and

$$\lim_{k \rightarrow \infty} \frac{\sigma^{n-1}(\tau_k)}{(n-1)!} \int_{\tau_k}^\infty q(s) ds = A > 1.$$

So for  $\varepsilon = (A - 1)/2 > 0$ , there exists a number  $K$  such that for every  $k > K$  we have

$$(21) \quad \frac{A + 1}{2} = A - \frac{A - 1}{2} < \frac{\sigma^{n-1}(\tau_k)}{(n-1)!} \int_{\tau_k}^\infty q(s) ds.$$

Now, if we choose  $k > K$  so that  $\tau_k \geq t_4$  and moreover, a number  $c \in (0, 1)$  such that  $2/(A + 1) < c < 1$ , then (21) implies

$$\frac{c}{(n-1)!} \sigma^{n-1}(\tau_k) \int_{\tau_k}^\infty q(s) ds > \frac{2}{A + 1} \frac{A + 1}{2} = 1$$

which contradicts (20).

Case II. Now assume (15), since  $\gamma(t) \geq t$ , it follows from (18) that

$$x(t) \geq \frac{c}{(n-1)!} t^{n-1} \int_{\gamma(t)}^\infty q(s) x[\sigma(s)] ds, \quad t \geq t_3.$$

Now, using the fact that  $x(t)$  is increasing and  $\sigma(s) \geq t$  for  $s > \gamma(t)$ , the above inequality gives

$$x(t) \geq \frac{c}{(n-1)!} t^{n-1} x(t) \int_{\gamma(t)}^\infty q(s) ds, \quad t \geq t_3.$$

or

$$(22) \quad 1 \geq \frac{c}{(n-1)!} t^{n-1} \int_{\gamma(t)}^{\infty} q(s) ds, \quad t \geq t_3.$$

From (22), it follows that

$$B = \limsup_{t \rightarrow \infty} \frac{t^{n-1}}{(n-1)!} \int_{\gamma(t)}^{\infty} q(s) ds < \infty.$$

Suppose that (15) holds. Then similarly as above we again obtain a contradiction. This completes the proof.

**Remark.** Theorem 2 can be applied to equations when  $q(t)$  is integrable over  $[t_0, \infty)$ . For  $n = 2$  and  $p(t) \equiv 0$ , we note that our condition (15) and condition (6) due to Ohriska [8] are the same, while condition (14) is stronger than condition (5) in [8]. To see this, we consider the equations

$$(23) \quad x''(t) + \frac{c_1}{t^2} x[c_2 t] = 0, \quad t > 0$$

$$(24) \quad x''(t) + \frac{\gamma_1}{t} x[t^{\gamma_2}] = 0, \quad t > 0.$$

where  $c_i, \gamma_i$  are positive constants  $i = 1, 2$ ,  $c_2 \in (0, 1]$  and  $\gamma_2 \in (0, 1)$ . Equation (23) is oscillatory by Theorem 1 in [8] and our Theorem 2 if  $c_1 c_2 > 1$  and equation (24) is oscillatory by Theorem 1 in [8] if  $\gamma_1 / (1 - \gamma_2) > 1$ . We note that our Theorem 2 cannot be applied to equation (24).

Next, we consider the following illustrative examples:

**Example 1.** Consider the equation

$$(25) \quad x^{(n)} + (x^{(n-1)}(t))^3 + \frac{c_1}{t^n} x[c_2 t] = 0, \quad n \text{ even},$$

where  $c_1, c_2$  are positive and  $c_2 \in (0, 1]$ .

By Theorem 2, all solutions of (25) are oscillatory if  $c_1 c_2^{n-1} > (n-1)((n-1)!)$ . One can easily verify that results in [2] and [8] fail to apply to (25) since  $p(t) \equiv 0$ .

**Example 2.** Consider the equation

$$(26) \quad x^{(n)} + \frac{1}{\sqrt{t}} |x^{(n-1)}| x^{(n-1)} + c_1 t^{-m} x[t^{c_2}] = 0, \quad n \text{ even},$$

where  $c_1, c_2$  and  $m$  are positive constant,  $0 < c_2 \leq 1$ . All conditions of Theorem 2 are verified if  $c_2(n-1) - m + 1 \geq 0$  and  $c_1 / (m-1) > (n-1)!$  and hence equation (26) is oscillatory.

**Remark.** The results of this paper can be easily extended to more general equations of the form

$$(27) \quad x^{(n)}(t) + p(t) k(t, x(t), x^{(n-1)}(t)) x^{(n-1)}(t) + q(t) f(x[\sigma(t)]) = 0 \quad n \text{ even}$$

where  $p, q$ , and  $k$  are as above,  $f: R \rightarrow R$  is continuous,  $xf(x) > 0$  for  $x \neq 0$ , without any change in the conditions imposed in Theorem 1 and 2. We only require that  $|f(x)/x^\alpha| \geq \gamma > 0$  for  $x \neq 0$ ,  $0 < \alpha < 1$  be satisfied in Theorem 1 and we impose the condition  $f(x)/x \geq \gamma > 0$  for  $x \neq 0$  in the hypotheses of Theorem 2. We note that  $f$  need not be monotonic. For illustration we consider the equations

$$(28) \quad x^{**}(t) + |x^*| x^* + t^{-4/3} x^{1/3} \left[ \frac{t}{2} \right] \exp \left( \sin x \left[ \frac{t}{2} \right] \right) = 0, \quad t_0 > 0$$

and

$$(29) \quad x^{(n)}(t) + \frac{1}{\sqrt{t}} |x^{(n-1)}| x^{(n-1)} + ct^{-n} x \left[ \frac{t}{2} \right] \log \left( e + x^2 \left[ \frac{t}{2} \right] \right) = 0, \quad t \geq 0$$

and  $n$  is even. Equation (28) is oscillatory by Theorem 1 and equation (28) is oscillatory by Theorem 2 provided

$$\frac{c}{2^{n-1}} \frac{1}{n-1} > (n-1)!$$

#### References

- [1] Š. Bolohoroc: Oscillatory Solutions of Certain nonlinear differential equations of second order, *Mat. Fyz. Časopis Sloven. Akad. Vied*, 11 (1961), 250–255.
- [2] T. A. Čanturija: Integral Criteria of oscillation of solutions of linear differential equations of higher order, *Differ. Urav.*, XVI, 3 (1980), 470–482 (Russian).
- [3] L. Erbe: Oscillation criteria for second order nonlinear delay equation *Canad. Math. Bull.* 16 (1973), 49–56.
- [4] S. R. Grace and B. S. Lalli: Oscillation theorems for  $n$ th order delay differential equations, *J. math. Anal. Appl.* 91 (1983), 352–366.
- [5] I. V. Kamenev: Some specifically nonlinear oscillation theorems, *Mat. Zamentki*, 10 (1971), 129–134 (Russian).
- [6] T. Kura: Oscillation theorems for a second order sublinear ordinary differential equation, *Proc. Amer. Math. Soc.*, 84 (1982), 535–538.
- [7] Ch. G. Philos: A new criterion for the oscillatory and asymptotic behavior of delay differential equations, *Bull. Acad. Pol. Ser. Sci. Mat.*, 29 (1981), 367–370.
- [8] J. Ohriska: Oscillation of second order delay and ordinary differential equation, *Czech. Math. J.*, 34 (109) 1984, 107–112.
- [9] J. S. W. Wong: Oscillation theorems for second order nonlinear differential equations, *Bull. Inst. math. Acad. Sinica*, 3 (1975), 283–309.

*Authors' addresses:* S. R. Grace, Department of Mathematics and Physics, Faculty of Engineering, Cairo University, Egypt; current address: Department of Mathematics, University of Petroleum and Minerals, Dhahran, Saudi Arabia; B. S. Lalli, Department of Mathematics, University of Saskatchewan, Saskatoon, Canada S7N 0W0.